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The number of times the digit 5 will appear
while writing the integers from 1 to 1000
is:

(A) 269 (B) 271

(C) 300 (D) 302

An 8-digit number 4252746B leaves
remainder 0 when divided by 3. How
many values of B are possible ?

(a) 2 ® 3
© 4 (D) 6

Direction for question number (3.to 5) :

In each of the following questions three of the
given four figures are similar on the basis of one
characteristic and one is different. Find this
different figure.

(A) ; (B) ?
© | 2 o | ?
@ | = &)

> <>
(©) = : (D) *

STM-1-2019-20

3. (A) ? (B) ?
© | 2 D) | ?

@3 | < () be
> e 2

(C) * (D) *

1. 161000 &< CAYRI 696R, 5 AT 6R60R

aidaide ?
(A) 269 (B) 271
(C) 300 (D) 302

2. 66IEY A0 U FEYQA°YY 4252746B Q 3
6Q VUG FEM WGEET 0 Q62 | B Q 626015
MY AAQ 6RIRARR ?

(A) 2 (B) 3
© 4 (D) 6

gg QI 3 -5 AR FRANRT :

Fe6a UQl geia 946 oleald 9 369l
601G QAE QU FRIQQ Y° 691§
Q21 Q] 5gFq QAR @ |




5. (A) A ® | 5. (A) Zg i -
© | / o | © | / o |[[—

Direction for question number (6 to 8) : g Q°HYl 6 - 8 AN FERANNXRT :

In each of the questions given below, there is a | §¢)6Q &Ql 96QI@ g¢ 086 2l gaa 6 §o14
particular relationship between the first figure | $96Q Y@ 3Q8 Q@ 27 | @ AxG Al QO1A T8
and the second figure of the question figure. This | 8 @@8 (A), (B), (C), (D) ©Q g 66Igq QA2
relation also exists between the third figure and | 28 | 9@ Qa8 5g0Q QIPIQ @Q |

one of the option figures (A), (B), (C), (D). Find

this option figure.
6.  Question figures : 6. 949 %9:
X OJT L] X |O]:]
L4 ° ’
Answer figures : 8Q 6@ :

w | ™ ® | O @ | M e | O

L

LI
©) D) [
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7.  Question figures :

x[O]:|+] -

Answer figures :

(A) (B) O .

o | 2\ o | O

8.  Question figures :

olO|: | |E

Answer figures :

(A) @ (B) @

©) @ (D) @

STM-1-2019-20

g4 oe :

8 oe :

(A) (B)
©) A (D)
aq o¢

O T
®

0 99 :

(A) @ (B)
© @ (D)




Direction for question number (9 to 11) : gé sl 9 - 11 QIR FERANR1 :

In each of the following question figures except | 8¢]6Q 2@l g6QIQ 94 0Q6Q 6QITY TQ NG1Q
one, all the figures have similar characteristics. | 2@4 QA8 §9Q ANBAY Q@8 | aANBILig @
The examinee has to find the figure which is | $95Q 64IF QRIQ QAQIQ ABS |

different from the other figures.

0 1 B 1 = ]
%A M ARy .4l sy s ]
- ] = - ] L e

(©) 0L (D) L © ik (D) L

10. (A) /A\ (B) l: 10. (A) /A\ (B) F _

o|/Z| o]E o|Z]| o]k

11. (A) ( (B) {: 11. (A ( (B) I:

el B B B T s G P T

C-6 _ STM-1-2019-20




Direction for question number (12 to 14) :
From the given options find which is the correct
water image of the word given in the question.

12. WEAK
(A) M3IVK (B) W3IAK
(C) w3avk (D) MEVK

13. DOCILE
(A) DOCITE (B) DOCIIE
(©) pooiIr3 (D) DODJITE

14. ELUDE
(A) Ernbpe (B) 3arnbpeE
© 3arno3 (D) 3arube

Direction for question number (15 to 17) :

In each of the questions given below, a figure is
given whose some part is missing. From the
given answer figures, which option will
complete the pattern ?

15. Question figure :

ONO/O
OOO

-~

Answer figures :

O 0O
O/0
(A) ooo (B) N
O O (olN®)
oONO/O OOOO
© IR0 D) |03
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g4 Qe 12 - 14 IR FRANIRN :
QLR FARYER (Y Fg6x FUAQYQ
fq O) ¢ g6QAGq Q21 @ |

12. WEAK
(A) M3IVK (B) W3AK
(C) w3avk (D) MEVK

13. DOCILE
(A) DOCITE (B) DOCIIE
(©) DpooiIr3 (D) DODITE

14. ELUDE
(A) ETNDE (B) 3arnbpe
© 3arnos3 (D) 3arube

gq Q°al 15 - 17 QIR FeRaIenT :

P60 FUAIRAQ Y60uIR Jg6Q, 66151 FeaRs
2°q QI | GUARAYR AWQ TRER 601 98
goqacq aqd «8e ?

15. g4 %e:
ONeY(®)
o2Ro
s
[0 TQ :
0 O
C)oo 3%
(A) O\O (B) ®)
(e Xe) 00
O0NOLO oooO
© [oIRo (D) |o2




16. Question figure :

O it
?
O 4
@ ni @)
©)(®)
Answer figures :
d OFX0
A (B
(A) o O (B) §
70 e
C
©) O (D) L0

17. Question figure :

QQ AD
? DV

Answer figures :

JAN 44

N (B)
A
© |7 (D) VV
18. The sum of first five prime number is :
(A) 11 (B) 18
(C) 26 (D) 28

16.

37

18.

g4 oe
O
?
O
e NP0
QIO
28Q 8¢
i Q.0
A B
(A) O O (B) X
O 10
G D
© o (D) 120
99 %8¢ :
4 AN
AN
2 |
%
Qe 9Q :
(A) AD (B) 44
YA
(©) \V4 (D) VV
gae 5§ 6l@@ °HIQ 6QATTR 6R6Q ?
(A) 11 (B) 18
©) 26 (D) 28
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15;

20.

21.

2.

Radha remembers that her father’s
birthday is after 16t but before 215 of
March, while hér brother Mahesh
remembers that his father’s birthday is
before 22" but after 19t of March. On
which date is the birthday of their father ?

(A) 19th
(B)
(C) 218

20th

(D) Cannot be determined

In the following question, only one number
is wrong. Find out the wrong number.

895, 870, 821, 740, 619, 445, 225
(B)
(D)

(A) 870 821

(C) 740 445

Select the missing letters in the following
question.

mnonopqopqrs

(B)
(D) qrstup

(A) mnopqr oqrstu

(©) pqrstu

How many prime factors does 30030
have ?

(A) Four
(B)
©

(D)

Five
Six
None of the above

STM-1-2019-20

19.

20.

21.

22.

QI QAT FRAR AIF AIAR 16 VIR A6Q
@9 21 010d 9IQ U@ 6aIR QIR AR
67160669 910 AR F1624Q QAT RQLR
AIg AIAR 22 SIRY g9g @g 19 QIad a6Q
939 6QIR A6RARAI | 67ARTA AT
Pa0 699 SRR P9 ?

(A) 19

(B) 20

Q) 21

(D) Q4o @d 629 Q@ |

3¢ 9969, 60IE A°HY QM 28 | 629 YW
HYITY QLR @9 |

895, 870, 821, 740, 619, 445, 225
(B)
(D)

(A) 870
©

821

740 445

3¢ g96Q 229l UYL QUL |

(B)
(D) qrstup

mnonopqopqrs

(A) mnopqr oqrstu

(€ pqrstu

30030 @ 696918 601Re QUIQIe 2T ?

(A) <R
(B) aIs
©)
(D) 6@eAG Q62 |

22



23. Find the missing term in place of question
mark (?) in the following series.

CB__D_BABCCB

e 1240 _ LT RED

a_ab_c_b___ _
(A) 3,443 (B) 3,223
(C) 3.1.1,3 (D) 1,4,4,1

Direction for question number (24 to 26)

Read the following information carefully and
then answer the questions based on that.

From amongst 5 doctors A, B, C, D and E, 4
: Engineers G, H, K and L and 6 teachers M, N,
O, P, Q and R, some teams are to be selected.
Of these, A, B, G, H, O, P and Q are females and
the rest are males. The formation of teams is
subject to the following conditions.

() Whenever there is a male doctor, there will
be no female teacher.

(ID)

Whenever there is a male engineer, there
will be no female doctor.

(I) There shall not be more than two male

teachers in any team.

24. If the team consists of 2 doctors, 3 female
teachers and 2 engineers, the members of

the team are :
(A) CDOPQGH (B) ABOPQGH

(C) CDKLOPQ (D) DEGHOPQ

C-10

23. . 6¢ Q06Q g9 90 (?) de6a @ QI
QIQIRYER Fda Qa |

CB__D_BABCCB

__1243__7??227?

a_ab_c_b__
(A). 3,4,4,3 (B} 3,223
() 3:1:13 (D) 1,441

g4 QI 24 - 26 IR FERFNVRT :

@ 9oRIC AERIR A2 AR B | VAR RIS
dg9eea 2eq @2 |

dig @6 @18 A, B,C,D 8 E, 918 94 &79a G,
H, K6 L 9 22 @6 499 M, N,O,P,QG R,
AIRE G 6R60I0 Q9 QBRI | IAINE FIER A,
B,G H,O,P 8 Q 62083 Q8% 99° 2AMAI6R
Ja¥ | 99a ¢09 f¢ 2y Jea AURIGS |

() 6K60696R P64 QA QI9Q @R, ewlad
9891 Q@69 Q2 |

6K606Q6R P66 Y98 RFFAQ L6Q, 6@1aT
FRR1 Q190 AREQ Q1L |

(1)

6aldd QRER QEPd JQ8 d9ew0Iq 28R
Q@6 QIR

(II)

24. 99 Qa0 Q@4 PI9Q, 0Fed dgdgl 9e°
Q0RE REPHANF 626 F0R QAIAN | 6069

QR0 AQAY 6RARIER 626@ ?
(A) CDOPQGH (B) ABOPQGH

(C) CDKLOPQ (D) DEGHOPQ

STM-1-2019-20



25.

26.

27

28.

If the team cqnsists of 3 doctors, 2 male
engineers and 2 teachers, the members of
the team could bé :

(A) CDEKLMN  (B) ABCKLMR

(C) CDEKLPR (D) BCDKLNR

If the team consists of 2 doctors, 2 female
teachers and 2 engineers, all the following
teams are possible except :

(A) OPGHAB (B) ABGHPQ

(C) ABGHOQ (D) ABKLPQ

How many squares are there in the
following figure ?

(A) 12 (B) 13

(C) 14 (D) 15

When seen through a mirror, a watch
shows 5 : 15. The correct time is :

(A) 6:15 (B) 7:15

(C) 6:45 (D) 7:45

STM-1-2019-20

25,

26.

27.

28.

A0 9R0 0hed 2199, 2awd J9d R°FFAR
99° QaRd JFRE] 69R JORQRILIN | 6962
QR AQYAY CRAFIER 6269 ?

(A) CDEKLMN  (B) ABCKLMR

(C) CDEKLPR (D) BCDKLNR

99 QR0 Qeed 9189, YaRd dAg! 1e°
QLARd QA°GR LA, 690 G0 @IV,
6069 66189 QUOIP ¢ QRQLe O

QUAIRAIEAR | 6QR ARTQ QUL |
(A) OPGHAB (B) ABGHPQ
(C) ABGHOQ (D) ABKLPQ

Q¢ 0e6q 696016 Ideae 2R ?

(A) 12 (B) 13

C) 14 (D) 15

66T @daea SRem AIea AAA 5 : 15

62N | OQ AT 6960 ?
(A) 6:15 (B) 7:15

(C) 6:45 (D) 7:45



29.

30.

31.

3z

In a school every student is assigned a
unique identification number. A student
is a football player if and only if the
identification number is divisible by 4,
whereas a student is a cricketer if and only
if the identification number is divisible
by 6. If every number from 1 to 100 is
assiéned to a student, then how many of

them play cricket as well as football ?
(A) 4 (B) 8

(C) 10 (D) 12

If a cube of 12 cm side is divided into
smaller cubes of 3 cm side, then find the
total number of smaller cubes

(A) 16 (B) 64

(C) 128 (D) 32

A printer numbers the pages of a book
starting with 1 and uses 3089 digits in all.
How many pages does the book have ?

(A) 1040 (B)

(C) 1049

1048

(D) 1050

Suppose you have sufficient amount of
rupee currency in 3 denominations : ¥ 1,
< 10 and ¥ 50. In how many different
ways can you pay a bill of ¥ 107 ?

(A) 16 (B) 17

(C) 18 (D) 19

C-12

29.

30.

31.

a2

_66lITN QIRACR J6RIR RIQQ 661N ARRY

daog Q°al QCARE | 9T ARG QUG
4 QIR QUY 29 6062 RIYT TN CURIRFT
MQ° 9090 QYT 6 QA NS €26R IQT
FERT 6PN AU6S | AT 1 § 100 agye
geoue Qg 6qIe9 2199 Q2UIAN, 6069
CAFIRE 11 6R6E FE [ERT B goam
6 ?
(A) 4 (B) 8

(C) 10 (D) 12

12cm QI 291 996 98 3 cm QIS 6816
dR6a ARG RAILIN, 6069 68IFARYERR
QY 6260 629 ?

(A) 16 (B) 64

(C) 128 (D) 32

60T (R4 66ITY @FQ gL 1 019
Q2 8 I AKANER  9Q° AL
3089 @Y QUILIQ @6Q | WPTQ AR

6Q60IG 911G ?
(A) 1040 (B) 1048
(C) 1049 (D) 1050

aeeaa @f aigea T 1,10 6 T50 gL
£62a ol 2R | Q67 6RE0 JRIa QTR
107 @ SaQ 69UIR9 ?

(A) 16 (B) 17

(C) 18 (D) 19

STM-1-2019-20



33.

34.

35,

Number 136 is added to 5B7 and the sum
obtained is 7A3, where A and B are
integers. It is given that 7A3 is exactly
divisible by 3. The only possible values of
Bis:

(A) 2 (B) 5

(D) 8

If the numerator of a fraction is increased

by 240% and the denominator of the |

fraction is decreased by 50%, the resultant

5
fraction is 2—. What is the original

6
fraction ?
A l B *2'
A 5 ® 3
C i D i
© 12 ()11

Which of the following statement is true ?

(A)

LCM of two natural numbers is
divisible by their HCF.

(B) HCF+LCM of two numbers is equal
to the product of two numbers.

©

Two prime numbers are co-prime
numbers if their LCM is 1.

('D) HCF of two numbers is the smallest
common divisor of both numbers.

STM-1-2019-20

33.

34.

35.

136 Q 5B7 6Q 6QIGIQER 6QIGTR 7A3 629
A 6 B 6208 gdaal | 7A3 0Q 3 Qe
QU9 621RAIAS | B @ AAUY QY 6260 ?

(A) 2 (B) 5

© 7

QG 6aITY QIR QAR AIF AT
240% QQIAN 6 0RAlY AUIFEY 50%,

2o B
Qe 9, 6969 QUGS ZE 6299 | 60969

(@ AT 660 ?

1 2
@) 3 ® 3
S 4
© 13 D) 7

29 e@aug 6906 A9 ?

(A) 29¢ gdIeee 29y @.41.9.
6QFIRTRA 6.91.9.92 QUM |

(B) - @@F Q¢a @.ALG. 8 6.9l.¢.a
62100R, Qa8 AW giee A2
QAR |

29 Qaf 6A@@ Qsa M.Qlg. 12\,
6069 QeF edlee Qdyl
AL-6NRQA°HYI 629 |

©)

Qe Q@R 9.9.9. 2aF A
Foe ARIE QLR 629 |

(D)



36.

Hari and Prakash go for a swim after a
gap of every 2 days and every 3 days
respectively. If on 15! January both of them
went for a swim together, when will they
go together next ?

(A) 7% Jan. (B) 8t Jan.

(C) 12th Jan. (D) 13t Jan.

Direction for question number (37 to 39) :

Which alternative will replace the question
mark (?) ?

37.

38.

39.

28
C P L\QI\
M N ?

(A) O (B) C
S S (D) ]
AR A A A A
15 4
= B)
S 4
© 7 By 5
LD | IC
I
ZB | OE
¢4 3
(A) 3 (B) 16
C) 5 (D)+"13

C-14

36. 23 G dRId QA8 JeoYR 2 G99 8 3 @@

ARUIL 6a LAY AAB | 98 LGN
1 6@ Q@9d QIR IRQ 6218 ALAAQ AIZF |
6069 6Q7I6R Q6RER IRY 62IQ 9LAI]
dea ?

(A) eIgaI1 7 (B) ®IgQual 8
(C) wIgaal 12 (D) eIgaial 13

gé Q°aiil 37 - 39 QIR RGP :
9992 (?) 9I96Q 620 IQ8C Q@9 ?

37.

38.

39.

™, o
C P L&QI\
M N ?

(A) O (B) C
€ S (D) ]
A\A AN A A A
15 4 '
* = ®)
S 4
© 4 O) 3
LD | IC
/2N
ZB | OE
? 3
(A) 3 (B) 16
€ 5 (D) 13

STM-1-2019-20



Direction for question number (40 to 44) :

Study the given Pie chart carefully and answer

the questions.

Percentage distribution of students in different

courses.

18% - B.Ed.

7% - B.Tech.
13% - Pharmacy
26% - MBA

6% -MBBS
30% - B.Sc.

Total number of students = 6500

40.

41.

42,

How much more percentage of students
are in MBA as compared to students in
B.Ed. ?

(A) 49% (B) 53%

C) 41% (D) 44%

What is the total number of students in
B.Ed., Pharmacy and MBBS together ?

(A) 2465 (B) 2565

(C) 2405 (D) 2504

Number of students in B.Sc. is
approximately what percentage of the

number of students in B.Ed. ?
(A) 167% (B) 162%

(C) 157% (D) 153%

STM-1-2019-20

| aq @@yl 40 - 44 QIR FedaneR :

SRURIRYSI a6l SI66Q eI de af gg9eea
e @2 |

VR UIOIFAER 6AQYRER F0Re FRURE

18% - B.Ed.

7% - B.Tech.
13% - Pharmacy
26% - MBA

6% -MBBS
30% - B.Sc.

Q79I VIGS Q°FYI = 6500

40.

41.

42,

B.Ed. 819% QWi Q@R16Q MBA 818« Q°aiI
6Q60 90! AUR ?

(A) 49% (B) 53%

C) 41% (D) 44%

B.Ed., Pharmacy @ MBBS @ 4719 2ig@Q
61115 Q°clYl 6@60 7

(A) 2465 (B) 2565

(C) 2405 (D) 2504

B.Sc. 21g@a Q°¢lil B.Ed. 2ig@a 2IdIous
Q60 doRe| 62 ? '

(A) 167% (B) 162%

C) 157% (D) 153%



43.

44.

45.

46.

47.

What is the respective ratio between the:

number of the students in Pharmacy and
the number of the students in B.Tech. ?

(A) 11:13 (B) 13:6
© 13:7 (D) 6:13

What is the value of half of the difference
between the number of students in MBA
and MBBS ?

(A) 800 (B)
(C) 1300

1600
(D) 650

10 November, 1981 was Tuesday. What
was the day on 11 November, 1581 ?

(A) Tuesday (B)
(C) Friday (D)

Wednesday
Saturday

Two positions of a dice are given below :

W) (1)

What is number of dots in the surface

opposite the surface having two dots ?
(A) 3 (B) 5
G 1 (D) 6

Which letter will be opposite to “T" ?

U A P 0 R 3
Q R T
(M (1) (1m)
(A) Q (B) U

©) S (D) P

C-16

43.

44,

45.

46.

47.

_Pharmacy @ B.Tech. 21g9& Q°@lil qeq

AdIo 696 ?
(A) 11:13 (B) 13:6
(C) 13:7 (D) 6:13

MBA @ MBBS Q19¢1I9@% F1RI6Q Q| 4QMIGR
2RI MY 6R6Q ?

(A) 800 (B)
(C) 1300

1600
(D) 650

10, R6RAQ, 1981 AGXRAIQ AF AR |
11 6999, 1581 62@ QAQ 629 ?

(A) 9FRRQUQ (B) QIR
(C) gee (D) aFIQ

Q06 PRECITR UG F6q Q2UECRIRT :

(D (ID)

6069 9@ 99 080 AIja FTRIeEa 6QERIT
QQ 080 agd @ e ?

(A) 3 (B) 5

© 1 D) 6

‘T Q Q910 AIF6a 61 AV QT ?

U3 Pl RIS
Q R T
() (1) (I1I)

(A) Q (B) U

© S (D) P

STM-1-2019-20



48.

49.

Two forms of a dice are given below. If
number ‘4’ is placed on the top surface of
this dice, then which number will come
on the bottom surface ?

sl 2 1 |g
3 5
(B s (D
(A) 1
© 5

(B) 2
(D) 6

What day was on 1 January, 2000 ?
(A)
(B) Tuesday
(C) Sunday

(D)

Monday

None of these

Direction for question number (50 to 53).

A cube of edge 6 cm is divided into small cubes

of edge 1 cm. Before the division, the cube was

painted red in colour. Find the number of cubes

whose :
50. One surface is red.
(A) 216 (B) 64
(C) 96 (D) 48
51. Two surfaces are red.
(A) 12 (B) 24
(C) 48 (D) 64
52. More than three surfaces are red.

(A) 24 (B) 48
(C) 64 (D) 0
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48.

| 49.

36160 R6TITR QAF 9 @HIQIRE | 9§
‘4 AT YL6TITR QAR AIGER QWIAN,
606Q 6QQ A°WIT B¢ AR Q8 ?

1|5 1 (g
3 5
@ (1)
(A) 1 (B) 2
© 5 (D) 6

1 @Q9IQ1, 2000 § 609 QR AR ?
(A) 6QIERQ

(B) AGRIQ

(C) Q&I

(D) 6296 962

g4 QI 50 - 53 AR FEAFIR :

6 cm AR 8 69IGY g2 1 cm AR YA YL@
JR6a 0680 ARl | 9REe geg A9eq fiR
QFER 930 AAITRI | 626010 A% Q8 629 YIPIR :

50.

51.

52.

64T Qg QIR 629 ?
(A) 216 (B) 64
Q) 96 (D) 48

Qa0 aig AR o 62ARAQ ?
(A) 12 (B) 24
(C) 48 (D) 64

Q6RIC aIgq AUS AR Qe ?
(A) 24 (B) 48
(C) 64 (D) 0



53. No surface is red.
(A) 48 (B) 64
(©) 96 (D) 216
54. Village B is situated to the north of Village
A, Village C is situated to the east of
Village B, Village D is situated to the left
of Village A. In which direction is Village
D situated with respect to Village C ?
(A) West
(B) South-east
(C) South
(D) None of these
55. Replacement of which of the operations
from the given options will balance the
equation ?
12-2+3x4+4=14
(A) X and — (B) — and +
(C) - and + (D) + and X
56. How many triangles are there in the figure
given below ?
(A) 20 (B) 27
© 18 (D) 29
C-18

53,

54.

55.

56.

6@16d aIg QIR Q6L ?

(A) 48 (B) 64
C) 96 (D) 216

A gi96a 28 Algea B gif 2989, B
ge aigea C gia 29@e | A dI9Q Q¢
aigea D gif 29@e | 6969 C gIFQ 699
aigea D giel 2A9Ee ?

(A)
(B) <fe-g9
©
(D)

QUYL QYL@ g 690 gRAUYEY
ARI2Q F6R AMPAEET AR CRIQARD ?

12-2+3x4+4=14
(A) x6- (B)
© -8+ (D)

-8+
+ 6 x

?¢ 996 6a60IT FuS 2R ?

(A) 20
(C) 18

(B) 27
(D) 29
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57. Which one of the following diagrams best

58.

59.

depicts the relationship among Earth, Sea

and Sun ?

(A) QD (B) © o
o o

@ .| o

How many educated people are

employed ?
Educated
<«<— Employed
3
Rural 7.
(A) 18 (B) 26
(C) 24 (D) 16

If the letters of English are numbered
sequentially, then a meaningless word is
hidden in the below given answers. Find
that word.

(A) 5,1,3,5,20,8,18

(B) 18,5,8,1,3,5,20

(C) 20,5,81,3,5,18

(D) 5,18,5,1,3,5,20
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57.

58.

59.

8¢ 5990Q MUY 690G qaU-AYL 8 g4y
CRIER QI A6RIRS ANT] 598 *6a T

(A) @ (B) © o

ol | ®

6266 @4 480 ene FYS AIRed ?

98¢ QI FQYE S YRR Q°YYI6R
EMEIIN, 606R 7F QRPN F1RIEA 661G
221?99 QRO QIR 98 | 618 gabq
QIR 2 |

(A) 5,1,3,5,20,8,18
(B) 18,5,8,1,3,5,20
(C) 20,5,81,3,5,18

(D) 5,18,5,1,3,5,20



60.

61.

If ‘Singers’ are denoted by ’Circle’; ‘Clerk’
by ‘Rectangle’ and ‘Males’ by ‘Triangle’
and their ii;:roportionate numbers are
depicted by the numbers given within the
diagram in the area they are present. Find
out how many persons are only ‘Singers’.

35

(A) 35 (B) 20
(C) 11

In the diagram, the number of those
candidates is given who passed in
Chemistry, Physics and English. Total
number of candidates who appeared for
Find the
percentage of candidates who passed in
at least two subjects.

9

90
Eng

the examination was 600.

(A) 125 (B) 1.25
(C) 12.05 (D) 12

C-20

q0.

61.

Q@ ‘Singers’ @ ‘Circle’ QIQI 98¢ QaIdi,
‘Clerk’ @ ‘Rectangle’ QIQ1 99 ‘Males’ g
‘Triangle’ QIQI T8¢ SR I° 6QAARTR
Q0B ol 5960 FUARAL ARER
QYL TV RN, 6369 6RCORE 6QR
‘Singers’ 228 ?

11
40 30 5
35

20

18
/

(A) 35 (B) 20
) 11 (D) 18

9856Q Chemistry, Physics 4Q° English 6Q
aIq QA9 2IRAIRER A°Hl QRU6IRS |
AQIA| 62R2 AN JRIEQ A°HY 600 | 268
Qad F9a6a a1 !9l dAISQ 219
6R6D ?

9

90
Eng

(A) 12.5 (B) 1.25
(C) 12.05 (D) 12
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62.

63.

65.

How many faces are hidden in a cube ?
(A) 4 (B) 1

©) 2 (D) 3

A man is standing facing South. He turns
135° clockwise and then turns 225°
anticlockwise. Find out in which direction

is he facing ?

(A) East (B) West

(C) North (D) South

A person covers a distance of first
120 metres at a speed of 4 m/sec, next
120 metres at 5 m/sec and final distance
of 120 metres at 6 m/sec, then during the
complete journey, find his average speed
in km/hour.

240
37

648

(4) -

(B)
b | 100
2 (D)

(©) 5

If X4+Y means ‘X is mother of Y'; X—-Y
means ‘X is brother of Y’; X=Y means
‘Xis father of Y’; X X Y means ‘X is sister of
Y’; then which of the following means “A
is uncle of B” ?

(A) A-M+N=+B
(B) B+M+NxA
(©) A+M—NxB
(D) A-MxN=+B
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62.

63.

64.

65.

6915 QR6R 6R60IT QARG A &g ?
(A) 4 (B) 1
© 2 (D) 3

69159 6RIR 284q ¢ @@ OeeIaR | 69
Q918 A0 g4 896a 135° 6R166Q QAR
99 QeI ¥91e gde Gaea 225° Qhml |
6Q 699 @6 €2 @5 BeleRIRg ?

(A) 9@ (B)
(C) @9 (D) @f4

adie

60169 6mIe gaa 120 dea 9Q°19,
4 m/sec 6966Q PR @6Q, da 120 fca
Qa0Ig 5 m/sec 69616Q 19 6818 120 FeQ
Q0] 6 m/sec 6CER UGRS V6Q | 636
Aq QI QIgl AR, f1a 2I1QIRIA 696
km/hour 6Q 660 629 ?

240 648
A 37 ® 37
25 100
© 5 @D 5

93 X+Y @ ad ‘X, Y a’, X-Y a &l
XY @, X+Y aad ‘X, Y a @,
XxY Q2ad ‘X, Y @ eedl’, 6069 @ Jaq
g 6R00a 28 “A, B @ qIg” ?

A-M+N+B

T >

B+-M+NxA
A+M-NXxB
A-MxN=+B

T e — — —
~— —



66.

67.

68.

The given diagram represents those peéple
who play hockey, cricket and badminton.
See the diagram and find out those people
who play all the three games.

Badminton

R
QT T 10

\Y%

Hockey

Cricket

(A) T+U (B) Q+R

(C) P+Q+R D) s

Which of the following expressions will be
true, if the expression, R>0 = A>S<T
is definitely true ?

S<R

(&) O>T (B)

(C T>A (D) S=0

In a class, number of boys is three times
the number of girls. Which of the numbers
given below can not denote the total
number of students in the class ?

(A) 48 (B) 44

(D) 40

66.

67.

68.

6AQI6R 9@, F6Q6 9e° Q4R 6wRa,

olel §¢ 59 @dIM | TQ0Q 69y 6RAIER
1Y TERIT 69R 69T, Q191 @42l |

Qlefiee
R
P 1O 1T 0
. \'
&
6.
(A) T+U (B) Q+R
(C) P+Q+R (D) S

Q@ R>0 = A>S<T 280 a0y, 6962 &3¢
AEE0YER F1RIG 6RWET ASY ?

(A) O>T (B) S<R

C) T>A (D) S=0

661G 6441160 Qlaaw WY QPRI IR

3 gél | Q96 UAIRYR AHIGLR I

699 LT 64416R A AFB ARR RS
QY 598 @RS RIR ?

(A) 48 (B) 44
(C) 46 (D) 40
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69.

70.

71.

72

Average of 15 numbers is 68. Average of
first 8 numbers is 63 and average of last 8
numbers is 70. Find out the eighth number.

(A) 44 (B) 49

(©) 56 (D) 10

Preeti is mother of Arun. Rahul is brother
of Preeti. Neeta is mother of Seema. Neeta
is sister of Rahul. What is the relation of
Arun with Seema ?

(A) brother
(B) nephew
(C) cousin (brother)

(D) cousin (sister)

Which yeai' will have the same calendar
as that of 2012 ?

(A) 2020 (B) 2040

(C) 2025 ° (D) 2031

Two clocks are set correctly at 10 am on
Sunday. One clock loses 3 minutes in an
hour while the other gains 2 minutes in
an hour. By how many minutes do the
two clocks differ at 4 pm on the same
day ?

(A) 25 min. (B) 20 min.

(C) 35 min. (D) 30 min.
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69.

70.

71.

72.

15 G Qaue 2R g 68 1 gae 8 §
AGIQ AALR FJMY 63 9° 6619 8 & AU
QRULIA GRY 70 | AR AT 6260 ?
(A) 44 (B) 49

(©) 56 (D) 10

g1e 2Qda ¢l | Q2R g91ea QIa | Q19|
QIR €l | Q1 AULRR KRG | AQER AIAl
qee A @4 ?

A)
(B) 4o
(C) QR QU

(D) Q1A Q@adn

2012 @ QUIEREQ 42 699 TR CASa
AR 629 ?

(A) 2020 (B) 2040

(C) 2025 (D) 2031

QRQIQ @9 Qa6 A4/ 10 am 62 OKVIVER
QelIgR | 66T A9l 9@ AYER 3 FF6
agq dlem G e 94I5 9@ A9I6q 9@ A6
g SleM | 6ARER 4 pm ANAER QT
29l FRIEQ 660 FRC MNRUIR QB ?

(A) 25 @dde (B) 20 dde

(C) 35 d@e (D) 30 8@e



78.

74.

75.

A result of a survey of 1000 persons with
respect to their knowledge of Hindi (H),
English (E) and Sanskrit (S) is given
below :

i

o
\

What is the ratio of those who know all
the three languages to those who do not
know Sanskrit ?

5 10
(A - B 17
i 1
© D 3

If January 1 is a Friday, then what is the
first day of the month of March in a leap
|

year ?
(A) Tuesday (B) Wednesday
(C) Thursday (D) Friday

In a code language, DEFENCE is written
as CDEDMBD, then in the same language,

NEED will be written as :
(A) MDDC (B) ULDG
(D) MCDC

(C) MCCD

C-24

73.

74.

75.

2R (H), a*que1 (B) 6 2°40 (S) 6o KIS
1000 94 6T FAINE TR-F € 6Q
Q21T |

t

9

A0Q F6RI0 QUTER BIFEQ QIR B A°JQ
@18 @ 89l cAIREQ AQYAIS 6REQ ?

5 10
(85 o ® 1
1 1
©wgg o oiBheg

IRl 1 9@ JRRIQ 24, 6069 66T
2d9d6a AIg fI1da Jaf 9ef 69 QR
age ?

(A) aFRRAR (B)

(C) 9 (D) 9l

QAR

60169 Q6" e @ @86 ‘DEFENCE’
‘CDEDMBD’ QUQ6Q 6adidig, 6069 698

agle udiea ‘NEED’ @dQ 6adIde ?
(A) ‘'MDDC (B) ULDG

(C) MCCD (D) MCDC
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76.

7y

78.

79¢

80.

If in a code language, word LATE is
written as 38, then in the same language
the word MAKE would be written as :
(A) 25 (B) 26

(C) . 27 (D) 30

The distance between two towns is
800 km. A car starts from the first town
with a speed of 30 km/hr. At the same
time, another car starts from the second
town with a speed of 50 km/hr. The
distance in kilometre of the point where
they meet from the first town is :

(A) 200 (B) 300

(C) 400 (D) 500

In the following question, what will come
in place of question mark (?)

RAMO : SCPS:: VXM] : ?
(A) WPZN (B)
(C) WQPN (D)

WQZN
WZPN

If ‘“dust’ is ‘air’, ‘air’ is ‘white’, ‘white’ is
‘yellow’, ‘yellow’ is “water’ and ‘water’ is
‘red’, then where will the fish live ?

(A) water (B)
(C) yellow (D)

white
red

Choose the set from the given options
which is similar to the given set.

Given set : (4, 9, 18)
(A) (8, 14, 22) (B) (10, 15, 25)
() (6, 12, 23) (D) (12,17, 26)
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76.

77.

78.

79.

80.

60109 AR QA6 ‘LATE Q& 38
cRHILIN, 6069 642 ARl QVER ‘MAKE’
@OQ easIde ?

(A) 25 (B) 26

(©) 27 (D) 30

QG A2Q F1IEQ Q90! 800 km 661G QIQ
30km/hr 6Q66Q 9afl A2QQ QULIARI 69
AALER A 9@ QIQ 50 km/hr 69660 G149
qeQQ QAVEAR | g ALQq 6Q60 @.4.

. 206Q 6976 U] 6RT6R ?

(A) 200 (B) 300
(C) 400 (D) 500

a9 94962 ? 980 AF6q @6 AT ?
RAMO : SCPS:: VXMJ : ?

(A) WPZN (B)
(C) WQPN (D)

WQZN
WZPN

Q% ‘dust’ ‘air’ 29, ‘air’ ‘white’ 249, ‘white’
‘vellow” 24, ‘yellow” ‘water’ 29 9Q°
‘water’ ‘red’” 249, 6969 fish 6220169
Q62 ? '

(A) water (B)
(C) yellow (D) red

white

QU FREYFR AU 69 6265
QUAIRAYS! 6A6R ARQD 629 ?
QUAIRELN 626, : (4, 9, 18)

(A) (8, 14, 22) (B) (10, 15, 25)
©) (6 12, 23) (D)- {12, 17,-26)

C-25



Direction for question number (81 to 83) .

Find the odd one out from the given word/
character / number.

81. (A) 63852 (B) 52638
(C). 28751 (D) 85362
82. (A) ROEHMT (B) FRTAEH
(C) LROBUA (D) THOREBR
83. (A) Number (B) Design
(C) Weight (D) Shape

84. If a clock rings one stroke at 1 O’clock, two
strokes at 2 O’clock, three strokes at
3 O’clock and so on, then how many
strokes in all the clock will ring in one
day ?

(A) 144 strokes (B) 136 strokes

(C) 156 strokes (D) 147 strokes

85. What will come in place of question mark
(?) in the series ?

150, 152, 149, 153, 148, 154, ?
(A) 155 (B) 152

(C) 147 (D) 149

C-26

g4 Qe 81 - 83 AR FERENIRT :

QRS 99/00Q/A°E g Vecq §96¢
Q| -

81. (A) 63852 (B) 52638
(C). 28751 (D) 85362

82. (A) ROEHMT (B) FRTAEH
(C) LROBUA (D) THOREBR

83. (A) Number (B) Design
(C) Weight (D) Shape

84. Q& 60IT9 QF 1 Q¢ AAAER AR AUER,
2 A4l AAL6Q RAQ, 3 A9 AAAER 3 AR
QIER, 6069 6dR QFI6Q CAITY Yr6q AQT
ARID 6R6L2AR AT ?

(A) 144 2@ (B) 136 2@

(C) 156 &@ (D) 147 &Q

85. &g AWIKMCR 94080 (?) 2R 6RRE
2139 ?

150, 152, 149, 153, 148, 154, ?
(A) 155 (B) 152

(C) 147 (D) 149
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86.

87.

88.

89.

If the water reflection shows time as
6 hours 10 minutes, then t‘he actual time
will be : :

12 : 40

(A) 6:50 (B)

(C) 12:20 (D) 6:10

Six friends A, B, C, D, E and F are sitting
in a row facing east. C is between E and
A. Bis next right to E, but left of D. Fis
not on the right end. Who is on the left of
A?

(A) E (B) C

© D (D) F

If 2 is deducted from all the odd digits and
3 is added to all the even digits in the
number 3 675249, then how many digits
will appear twice in the new number

formed ?
(A) None (B) 1
© 2 (D) 3

Ifin 8903214675, first digit is

~ interchanged with sixth digit, second with

the seventh and so on, then which digit
will come seventh from right ?

4) 2 (B) 6

7
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86.

87.

88.

89.

9@ o9 gdanea aeid 6 a9l 10 G0 aag

6QGlIN, 606@ JRO 9FId 6R60Q 629 ?

(A) 6:50 (B) 12:40

(C) 12:20 (D) 6:10

8296 QIS A, B, C, D, E 4&° F 6616 I36Q
geQ @8 9388 C, E 9 A auea

, 881 B, E a 0) @I91§ ae6q 948 ai1ela

DQ QIfl dif A6c | F @9 @Il aigea
P11 AQ QUM Ageq @9 &G ?

(A) E (B) C

© D (D) F

Q99 3675249 Ux ARIER AAY ALY A
Qe 2 60g! QM 9e° gg WY g7
3 64I6 @RI, 6869 Qor F00 AR
6Q60I5 2w Qwda 23R ?

(A) 613G @62  (B) 1

© 2 (D) 3

9% 8903214675 6a 9aa QAT
99 Qg AR, §O1A AHIITY AA A°@l
AR YRR AL, 6969 69T RAER 69Q
QYIS LIRIGAg AN [FeR 2T ?

(A) 2 (B) 6

© 7 (D) 8



90.

91.

92.

93.

What will come in place of question mark
(?) in the following series ?

56, 42, 30, 20, 2, 6
(A) 15 (B) 12

(C) 18 (D) 14

How many times the hands of the clock
meet in a day ?

(A) 22 (B) 21

(C) 2 (D) 24

A, B,C,Dand E are fiverivers. A issmaller
than B but longer than E, C is the longest
and D is a little smaller than B and a little
longer than A. Find the smallest river.

(A) A (B) B

(D) E

At 9 hours 30 minutes, find the angle
between the hour hand and the minute
hand.

(A)

105° (B) 255°

(C) 125° (D) 105° \4Q° 255°

C-28

90.

91.

92.

93.

Q0 e 99989 (?) atéea 6RRE
ade ? :
56, 42, 30, 20, ?, 6
(A) 15 (B) 12
(C) 18 (D) 14

60T PR6a APR Q4IgER 6a60 A ARG
U3 ?

(A) 22 (B) 21

(C) 2 (D) 24

A, B,C,D 99" E 62@8 QG Q@11 A, B 019
6216 &g E 01g @al, C 9Q1 AQ0Iq Ral 99° .
D, B 0Ig QY 6216 99° A OIg Qleley
ARl | FRO K916 @9 ?

9 @4l 30 §F¢ A6, A4l @4l 9° A8
@4l (12160 AYR 6RNEQ QNS 6Q6Q 621 ?

(A) 105° (B) 255°

(C) 125° (D) 105° 9@° 255°
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94.

95.

96.

97.

With the help of the options given below,
find the suitable number which will come
in place of the question tark ().

FEDx3=1629, BCDx4=492, BEFx1=?
(A) 451 (B) 145

(C) 514 (D) 415

In the following number series, only one
term is wrong. Find the wrong term.

34711202947 76
(A) 7 (B) 11
© 20 (D) 47

In the foliowing series of letters, which of
the following options will come in place
of question mark (?) ?

BXF, DVI, FTL, HRO, ?

(A) JOL (B) KPM

(C) KPL (D) JPR

Study the given series carefully and find
the option which is suitable in place of the

omitted letters.

_bc_ca_aba_c_ca

(A) abcba (B) abbca

(C) ababb (D) abcbb

STM-1-2019-20

94.

95.

96.

97.

@ Seegde A6, 99 (7) 5§86 gIeea
0R QHMITY I |

FED x3=1629, BCDX4=492, BEFx1=?
(A) 451 (B) 145
(C) 514 (D) 415

@€ sl QFI6Q, CHITY QAR QR 2T |
YR AWIFNTY LIQ 9 |

34711202947 76
(A) 7 (B) 11
(© 20 (D) 47

89 289 @61, 99 (?) 690 AR 696
et ade 7 -

BXF, DVI, FTL, HRO, ?

(A) JOL (B) KPM

(C) KPL (D) JPR

QULIRYR RAYFR OISR AP AP I9°
404 e 9e@ca 0@ Iacq QIg |

_bc_ca_aba_c _ca

(A) abcba (B) abbca

(C) ababb (D) abcbb



Direction for question number (98 to 100). )

In each of the following questions, one character
is missing. Find the same on the basis of

common given options.

98. If 12+10=1205 11+8=885, then
16+15="7
(A) 1025 (B) 130
(€) 2405 (D) 105
99. | 3A | 5B | 4C
45B | ? | 28A
15B | 4A | 7C
(A) 10C (B) 15B
(C) 20C (D) 30A
100. 115 /
212029 2
7 |65]45| 6
213
(A) 2 B 3
<€ 4 (D) 5
-00o0-

1 'aq @y 98 - 100 QIR FeRaUIR :

39 999696a 64159 96g I8 | QFuAIRALI
FRRGea g €ARCQ QR @9 |

98. 9§ 12+10=1205, 11 +8=885, 6069

16 +15="7

(A) 1025 (B) 130

(C) 2405 (D) 105
99. | 3A | 5B | 4C

45B | ? | 28A

15B | 4A | 7C

(A) 10C (B) 15B

(C) 20C (D) 30A
100. i

2 |20} 291: 2

7 165|45| 6

2| 3
(A) 2 (B) 3
Q) 4 (D) 5
-00o0-
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